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NEwlhghwyh Eupwjyhwih juwyp wpwewgdwb Eup. hkwn ArH = Yyupe ArH — Xy ArH
Qhpuh Eukpghuyh Juwp tupwjyhuygh b Ebnpnuhuwgh hbn A.G =AH—-TA,S
Qhpuh Eutpghwjh juwp hwjuwuwpulppnipjut hwuwn. htn A,.G° = —RTInK
Ghubkwnpljm

onpn Jupgh nkwljghw [A] =[Alo —kt
Unwgoht jupgh ntkwljghw In[A] =1n[A]o — &z
Epypnpy Jupgh nkwljghw 1/[A] = 1/[A]o + k¢t
Unwgoht Jupgh ntwlghwjh jhuwwnpnhdwb wuppbpnipniup 1=1n2/k
Qpwistmljuit gmghy

Midtn ppyh hwdwp pH = —I1g[H™]
@ny| ppyh hundwp pH = 2 (PKg — 1gCppn))
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Pniwulwt qugh hwjwuwpnudp PV =nRT
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Puwjut b muutinpyuljwt jnquphpdutp Ina = 2.302lga
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Nunhp 1. Ugnunh opunpinphnp  (30%)

Cunhwmip | 1 2 3 4 5 6 7

22 2 1 4 3 3 3 6

Uhwupnghih pinphnp (NOCL, wgninh opunpinphr) fuipthp, htndnighy hnny, pntturgnp quiq t:
Uyt quipbih Enpinwplily, nputu wqninught peih (HNO,) pinpuitthhryphay:
1. Q&k'p, NOCI-h Lynthuh Junnigduspuht pubwdlip:
2. I“hzulhou E thnpjuynid yniptph Jumniunipniup NOF, NOCl, NOBr, NOI zulppnuf
U) Ukbwunid L,
£) @npputinid L,
Q) Pnnp opunhwngkuhnubpp nitkb vhtiinyb fuyniunipyniin:
Uppyniuwpbpnipjut vk NOC! unnwunid Eu hkwnljw) ptuljghuymny.
2NO(g + Clyq 2 2NOCl g

3. 2wpytp nkulghuh Fupwyyhuyh hopnjuneymbp A.H® —p - (49/dn) bpk.

2NO - N, + 0, AH® = —180.6 42/un|
N, + 0, + Cl, - 2NOCl AH® = +103.449/un|
4. 2wpqtp pkulghwih Eunpnughugh dhindinfunpymbp 4,5° - p(2/(Ung x W), pk.
S°(NO(y)) = 210.8 9/(in x W), S°(Clyg) = 222.89/(dny x W), S°(NOCly) =

261.7 9/(iny X b):
5. Zwpykp nkwlghuyh A,.G° — 1 (YQ/uny):
6. Zwpykp nkwlighuyh InK,-h wipdtpp 100°C-nud:
2NOg) + Clyq @ 2NOClg ntwlghwih Jupgp npnpkint hwdwp hpuubwgyty b dh pwpp
htwnwgnunipnitutp, npnug wpynibpubpp thpuyugdws Bu wnnruwnid:

@npd [NO] (Uny/) [Cl,] (dny/) Upugnippnih (Uny/(1x4pl))
1 0.0300 0.0100 3.4x107*
2 0.0150 0.0100 8.5%x 1075
3 0.0150 0.0400 34x107*

7. Qnbkp 2NO(q) + Clyq) 2 2NOClq) ntulghwih Yhukinhljuljut hwjwuwpnidp:

unhp 2. Qwunhnwljnhy] yopnuhnd (25 %)
Cunhwnip 1 2 3
8 3 2 3

218Po-h tdniph 15.8%-n inpnhyky & 47.142 Jpl-nud:
1. Zwoykp nwnhnwlnhy wpnhdwi wpwgnipyub hwunwnnith’ A-h wpdtpp (JpY):

2. Npnokp Jhuwnnpnhiwb wwppkpmpymbp © @ply):
3. Nppwil dwdwbwl wug Jupnhyh 2#Po-h 90%-p:



Nunhp 3.Utunwunubph Yndutpu dhwgmpymuutpn  (20%)
Cunhwnip 1 2 3 4
16 6 4 4 2

Ubkwnuniubph Juppnih) dhugnipmnibbbpp juyi Jhpupnipmni nukh U wpynibwpbpm pjub
Ukg, U ghnwlwl jwpnpuunphwibpnid: Zwighuwinid ko Uk pynd  opquiwlwl
ntwljghwtbph juwnwihquunnpubkp: Uy dhwgmpnibubph punhwtnip pwbwdbit £ M, (€0),,
npuntn x-p b y-p jupudws B dkinwnh wquwn opphwnwyitph pyhg:

1. A, B U C hwdlwwwunwupmmbwpwp ppndh, Gpluph b uhykh YJuppnuhjught
vhwgnipunibibpt kb, npnugmd x=1: Zwpyh wntbkny, np A, B b C Lupwpldnid tu 18
EiEywunpnth utnuht (dEpubph jutnb), gpbp wyn yniptph phuvhwlut pubwdlbpn:

2. Q8kp [Fe(H,0)6]** Yndyikpunid tplyuph d-opphinwjubph &knplwt ghwgpudp b
pwugub] EEjunpntutpny:

3. [Fe(CN)e]*™ Yndyikpunid tpYuph d-opphwnuwyubph gknpuwt nhwgpuup b jpughby
EEjunpntubpny:

4. Npnokp [Fe(H,0)6]** b [Fe(CN)g]*™ Ynuykpu hnbtkph vwqihuwul huwnynipmiin
(mqupudwqubtnhl/mhudwqubnhl):

Tulighp 4. Yunkjunqudhbught fodph hopdntbp.— (25%)
Cunhwunip |1 2 3 4
20 3 4 6 3 2 2

Unpktwphtp, gndwdhtip b tnpunpbwihip junbjunjudhttwghtt judph hnpdnuubp Gu: Uju
hudph hnpuntubpp juytt Yphpwpnipnit niubkt pdoynipyut dbe: Gpgomid B uhdwwphly
wupnuhtt  hwdwlwupgp, hwdwpwgunid Gt upnh  ysSyndubpp, pwpdpugumd ko
qupibpuujhtt wput Lugnidp: Unnpl tkpjuyugus t wnpbuwhtth b N-dkphipndwdhth
uptptqh onpwl:
o
':-Ll __.-'HH_\_\_\____.Cl
A ——» B
CelgO2 A1,

LH:NHE NEIBH_I_

- O ——» D (UnpkGug i)

Zn/Hg
CH,COOH

E (N-dbppp nPpuwipih)

Ljupmd mipdws kA Wyniph UUL} 'H uyklunpp, nphg tpind £, np A ynipp yupnibwlnud |
tEptp wbkuwljh opwshutbp:




CsHsO2

Fo.14
;0.13
;0.12
;0.11
1H ;0.10
F0.09
;o.os
;0.07
;o.os
;0.05
1H 1H ;o.o4

r0.03

0.02
JL r0.01

0.00

r-0.01

1.

T
7.05 7.00

6.90 6.80 6.70 6.60 6.50 6.40 3.70 3.60 3.50 3.40 3.30 3.20
f1 (ppm)

QStp A yniph Jupnigquspwyht putiwdlin:

B iyniph htwn qgniquihbn unugdmu t gpu hqnutp B' iynipp swn thnpp ypn: B'-p wdbh phs k
unwgynid unkphl Eptljnubph yuwnmdwnny:

2.
3.

Q$tp B b B' yniptph junnigyuspuwjhtt pmiwdikpn:

Qstp C, D b E ynmipbph Junnigjuspwhtt pmtwdlbpp: D ymiph Junnigudpp qétp
wlwnbubjny unbtptnphuhwi:

Unpktwhtip opquthqunmid qugnid £ R-hgnubph 4lny: Q6tp R-wippkuwihth
Junniguspuwjht pmtwdlip:

Unpunpbkiwghip opquithqumud uhiphqUnid E wingpinuhthg dkY thnyng dkphpinpuudbpuq
dEpdkunubph dwutmljgnipyudp:

5.

QStp unpunpbktwihuh Jupmguspwihtt pwtwdlp, bpt wppbuwhth  dnjught
quuquép  14-ny kS Lt unpugpbtiwhth  Udnjughtt quuqdushg:  Ubwnbubp
unbpbnphuhwi:

B-hg C unwguwt nbkwlghunid dkphjudhuh thnpowpkt hy nbwgbun whwp k 4Epguby,
npukugh npybu yEpotwynipe unwugyh tnpunptuwhie



